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For the track alignment of Taiwan railways, assuming the radius or

curvature (R) is 1,500 m, actual superelevation is 100 mm. If the safety

factor of overturning toward the outer rail is set to 4, the height of the

center of gravity of the train is 1700mm - (15%)

(c) Determine the highest allowable train speed on the curve.

(d) If the highest train is set to 160 kph, please determine the required
length of transition curve using the Grade A specifications as shown

in Table 1.
Table 1 The n, a, a' values used for Taiwan railways
Grade A Grade B Special Route
n 0.8 0.6 0.4
a 0.01 0.008 0.006
a 0.009 0.009 0.007

1 HRMEY A = FEr sl

SR -

The overturning safety factor of a train car is defined as the ratio of

and actual superelevation.
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